AT DYR A 4 €0, 323 B %2 3 22 4
LRE I 5 H
7K AR Fy I B 4 o R

2020 4E 4 H~2020 4 6 H

=8 00000 OO




W H ¥

JIT I i 1

LAY DYAK AN A1 4 €1 fllﬂh‘u‘!ﬂf;\ 225

(RN RS

- (“4"]4/[ "'
«”Ilvl h “ ﬂ il

At S SRTITI]

o

m

J I £ VLA TTW A ),
AR, 15903912281 4 ﬁ
\
o
037166026205 ——— )
2020 710 |
i | LR LI s T TR e
ik = AR ifa,
b : | wimm | Azg | #at
&it - 26 94 \ 513 65.4
itif 1 1391 TL a7 31
WA REL LR ARG 075 | 0 o
" (U aRE Ja-mmau“- st | o 051
) it 1A 0.05 0 0.03
- PEAE TR 9.67 0.12 0.98
i 2 TRE 021
B | SRR — ' 2 2
JitE 136 B 2.82 0 0
W A AR X 0.35 0.1 0.1
VN S LB 3 R gc) (EESTRW 11.70 0 1121
B ROGE LR it TA: A TE X 0.20 0.12
REmEGEE (4D
#EHEE (M)
Bt (#) B (Fmd) HAhHE L 0
. . #FEXEETHBEESEE) 4.02 0 1.55
Ft () B T m) taill; ;
EHEE (%) 95.00 99 99
. R 41 " -
pividiie B X e A R AT % AR FPE
g | MR ILRE 3 1% hm? 0.55 0 0
7K 4 b ) hm’ 1.09 0 0.51
2 # R B8 (LR 318 hm? 1.09 0 0.23
1% 49 s il m? 3270 0 0.23
b 74
b s -}“*;;E“ I m | 425 0 404
T . 4 ES ROt o O 3
; I}Jﬁ;ﬁ:ﬁ@ ; ﬂi/](//_] ,L}J J”L m 147.9 0 726.6
£ ’J: e+ m? 90.1 0 0
i B paame | om | 1275 0 0
Ji # 3 -
i B hm 0.05 0 0.03
‘ H:
T i ILi B 681K £ 315} hm? | 0.05 0 0
A id X —
i - m? 150 0 0




By i
. Py X Lt A T RN ISINT [
“;bﬁl Ul HIMI.VI” rlf[ l),l,l {'l 4\ ;}:_,0: %fﬂ!",{
s hm’ 5.87 0.12 0\
ket | hm® | 587 T%
YR "“,, ) ”I 1740 0 o \0‘
g ALK m |20 | 0 | g
B AL T kb m | 7100 — 0 | o
PKEE _m_ [ 7100 0 | o
B4 | m 500 | 0 | o
N _’/,_——’— - - 0
i | gawiai | ot 4980 520 520
L340 T PR S I
:;}\f_JJI\{TJt slr, f;‘ f“( /}\. %J m 1550 0 T
Jemszdt o | L —1 -
il E 3SR I T K m? | 021 | 013 [ 013
RgET | - b :
. B8 |k 418] hm? 0.13 0 0
i 11 e P m | 120 0 ;
TERUL (VLN m 120 0 0
4B hm? | 2.82 0 0
LE i T LA hm? | 282 0 0
3t 3 ——1
Al wt m? 5640 0 0
—— F+#HH hm? 0.35 0.1 0.1
R B hm? | 035 0 0
‘ i m | 700 0 0
— _/_,,__,’
F#tFE hm? 0.45 0 0.53
| RLEA L]
+- i #EiG hm? 0.45 0.32 0.32
Bt m? 1350 300 960
AILTEE SN m 2050 743 743
JERE m? 975.8 _‘3.2’_ _ﬁﬁ
ety 907 m® | 5125 185 185
#LIE AR | m | 148 | 416 416
. b 1] hm? 0.2 ’L_ __,01,2——
i 1A == v BT
o A- K hm? 0.2 0 0
iIx - | hm® | P 1]
-l m? 600 0 0
| . _ | m® | 600 | " L ——
it LA AL m? | 24860 0 33732
T itk | W 0 0 415
JH T LE ) G i "]
TFAR K REAR 78 0 0 310
Ak 178 0 0 409
1 N
W | s e Ko | IR 268 0 10
v | 8 I Bt £l | 10
i ot - TEf) 25 285 0 20
i L o = | =
BT | gk A 178 205 0 0
% 2 : 0 0 250
aik | o | 200 ]
o & 3
L,,——/A_—,’J HAZ | & L L.

T
Feme DO OO0 OO

Ly r'.u-




iy

0 [:f '-';/,
"I" N ' e YR S o Uil B
zinlfik | K 0
i Ky H 0
e A £ 4 HEE K 0
29 )
3 ¥l 0
f'l"f ': thzh
lfl I Whap g 1oy b " P
wr | | Ttk | KO
| | Kot #iky | GEX | 868
| A } | 1
[ ‘ ¥ . | -
| | | { ‘x i ‘ )37
| . | teE A | hm’ | 122
I ERCTIEE of (VB YT ’ =T e
| BF | RxF fbe} 20
& FORRES A L om? | 4502
s L B
ez Lo g i i \ ]
B 7"”{-{ - m | 34272
WA gL m’ 3281 0 0
£ (i ok 'TF f_?ﬂ Fr 6-70 o | 0
$5aE L T S Fk 2584 0o | 0
ik Rk % Fk 1369 o | 0
ti% | PGk L amF | H | 645 o | 0
HibE [ A | BTH 143 2153 0o | 0
LiEEy) Ak Pk | 1050 o | 0
I Ak | 2K | 1400 0 0
Kitw | JFH | hm? 5.81 0 0
Jiti T3 B4 Witt | M | hm? | 377 0o |0
ARSI | K | SR | hm? | 033 0o | 0
Ve Fk 318 o | 0
TeH) S 182 o | 0
[RIES t 0 Mo M
AL b 0 $ | 8
ik e T o [ & | @
AN fk 0 43 43
Vg L3 F U R Fk 0 36 36
i | . LH Fk 0 5 5
MR a1 — T 5
Uit oAt | R 0 9
YAV pete | B 256 0 0
K W s INURU HUB N 663 0 0
o N LR T Fk 0 13 15
bk | B 0 14 14
Gty | 0K 0 194 194
Hi e B A hm? 0.36 021 0.31
[T Al 1 L IR | g | 0.2 0.05 0.03

g =]
rl'%r?fl.:. O00o00 O




By 4 i B3t 41X Ji4 i 45 P g [ @it [ A | wpn
[ 12 14 m’ 12000 0 277988
. "vf . . | 2300 0 0
o il m’ 0 4400 | 39003
w4 ! 0 0
i I A Bl Y R B
Wff N e R VA |0 0
S ) ’ i | om 76 | o0 | o0
LR l:,’jll'f{ m 105.6 4‘ 0 0
PR Do ST .
BKEE | - TR AR L m 3.5 | 0 )
e e : — =
i [SENE m’ | 1279 |0 | 5402
i TR m2 0 | 0 | 800
I"i""ﬁ sk | m 300 0 0
' 4| LIz | m? 40.5 0 0
IIRARILErYL m’ 15 0 0
‘ gt m | 525 | 0 0
'”"',Ti UIENE! m? 100 0 720
Fxé‘*ﬁ ek ] K | m | 10 [ o | o
¥ | +IFE | md 474 0 0
| Isrd b TR I m? | 19824 0 0
bm e m? | 31000 380 6575
i BT [ & m | 2650 | 0 | 0
" ki | AAFHE | md | 522 o | o
btz i m | 225 0 { 0
ZYO) p—— g | 20 0 0
- LT T . 0 350 350
A, et 127 ht m? 64 0 0
ik o 4T m? 250 0 0
L | MRHAE
T i 41 [ m 120 0 0
#1 1K SWIDIE P m’ 72 0 0
fi e u{m’mﬂ l\ m | 7633 0 0
Kt LI m? | 1831.92 0 0
iS4 |- m? 28.56 0 0
0 G Bl 2214 m? 400 60 60
G| I K m 632 0 0
K4 BIPIR m? | 142.66 0 0
:LEJ'\ A3 T fA&if’)?ﬁi?:l: m? 11.34 50 50
223l o Wi m? 650 372 | 14436
Al ] K m | 108 0 0

ok

el
DDDDD [



sl s T
R 7K VA
{ @it —t+—= \ ! {’_’U" m' 19.44
R M“““i Tl U e
Jith 1.4 I . : m
N1 . ‘) ‘
R I EE O et m’
W i IERT )
/,J LB X L =
LA T
U Pf”l'u N Jm "
A IRREEWIN g P T T T —
T o m e —————— mm
rh( }\lq‘| : o ‘;Z — -
BRE ST Kt \t
K RN —1  t \qﬁ
| A

A‘.
4.\ ()l,l R I Ve - PRI ITNIRE N |- ] R v YR
‘“””””*ﬁhumwﬂﬁnuwmawmmnmwm V- PR H L

T AL LR IR AR BLIA T
W TARIFRERS AL | A

CIRIRIRCT AR PL . ATV IR BEEL MR R
’*“ POIGAE ANt U PR RO 00 W A b 1 0% 6 0 e o O

PRI O MIE R ST Y. AR K Jede <A, * e T i) SR
PN AR B L DL B AR R R £
e 2B LY R
770 i S Y y,

'D[]D[]D 0




AU A R i i o RV
o BT

{3223 11 BB (1 I PO D (T 1

|

| = wides

el
.rl'%r?:__ goood od



- g »
b I -
2 'g A"‘J' ’

CeWe X %N

’7‘1\ o
A \

i1 HI (1"( [ 1 {llllnu

L fi




UERT

Jits T30 T 4




"l': 2§
=1 IIIL

e 2 1 A

&
e

SUIRCS!

i

b

[

Al

N

L]
U]
(I
L]
L]
L]
L]




-

B ——

-~
.,'z"’
L G

-,é?’zyf —

7

PRI A i

R

oo o




